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(=K mEES XL\ F 4> FIGROSS HDCP | NET (K ivd PR E A X L-/\2F 42 FIGROSS HDCP | NET JIE 3z R E A X L{ingF # FIGROSS| HDCP | NET
2 B BB E=E 50 45 95| 25.2| 69.8 61t HF K 46 46 92 16.8| 75.2 12161 | iF EF 57 56 113] 33.6 79.4
EEE Mk M2 40 40 80| 9.6/ 70.4 6241 |+ Fk 51 53 104, 28.8| 75.2 12241 |$ZF & 51 55 106/ 26.4| 79.6
34z BEH #i 43 39 82| 10.8| 71.2 63 EH B 42 43 85 9.6/ 75.4 12360 & $RA 52 54 106/ 26.4| 79.6
4431 & — 41 40 81 9.6/ 71.4 64461 FHith +=2 45 46 91 15.6| 75.4 1241 (WA E= 59 57 116/ 36.0/ 80.0
541 A+ 1T 40 47 87/ 15.6| 71.4 65z EE FHiE 42 48 90 14.4| 75.6 12561 | K&t IEfT 43 48 91| 10.8 80.2
641 WA # 46 41 87/ 15.6| 71.4 664 FIH FHiE 49 47 96 20.4| 75.6 1264 |&ELE)I A 41 50 91| 10.8 80.2
7451 RHE & 40 40 80 8.4, 71.6 676 IINKE B 48 48 96 20.4| 75.6 12761 | HFiE B 49 48 97/ 16.8 80.2
86 |BEXR &Hih 39 4 80, 8.4| 71.6 681 {RE @B— 44 39 83 1.2 75.8 12841 |k =& 47 50 97| 16.8 80.2
9{iL sy o 11 54 43 43 86| 14.4) 71.6 6941 ({EBR /AR 46 43 89 13.2| 75.8 1296 [liA &EE 50 46 96| 15.6 80.4
104sz  |BOWEN 35 38 73] 1.2) 71.8 106 EH %A 42 47 89 13.2| 75.8 1306 |¥5E BSIA 57 56 113| 32.4| 80.6
11462 |[HFT BEA 42 43 85 13.2| 71.8 T (REE EB 46 49 95 19.2 75.8 1314 |{Efk &= 53 53/ 106/ 25.2 80.8
1261 |HE 2 42 41 83| 10.8| 72.2 260 ARHBA HF 46 49 95 19.2| 75.8 13261 &% B4%E 57 61 118 37.2 80.8
1360 |EH HiE 46 43 89| 16.8| 72.2 13 PR HER 45 37 82 6.0/ 76.0 1332 |ER EZ 60 61 121] 40.0 81.0
14460 |BEe)I 1B+ 53 48 101, 28.8| 72.2 ML B8 B 45 43 88 12.0| 76.0 13440 1R BfF 53 63 116] 34.8 81.2
156 |El Rz 43 39 82| 9.6/ 72.4 7542 ngE shI=E 47 47 94 18.0| 76.0 1354 |[IuHh #BSE 46 51 97/ 15.6 81.4
166 |&H 1#1T 48 40 88| 15.6| 72.4 16461 NER [E1E 49 51 100/ 24.0/ 76.0 1361 |HEE = 55 48 103] 21.6 81.4
1761 |RE F— 4 45 86| 13.2| 72.8 7 % EX 8 49 44 93 16.8| 76.2 1376 |[fE4<K HIE 48 47 95| 13.2 81.8
181 |BA& XA 35 38 73| 0.0/ 73.0/BG 8 (=B BB 41 39 80 3.6/ 76.4 13861 | =18 thiek 51 56/ 107, 25.2| 81.8
1961 | KIE 0= 44 4 85 12.0| 73.0 195 B EiE 46 40 86/ 9.6 76.4 13961 |&H BH 49 49 98| 15.6/ 82.4
2001 |EBE HE 49 42 91/ 18.0/ 73.0 806 EH FhA 47 51 98 21.6| 76.4 14061 (A0 & 55 60 115] 32.4 82.6
2016 |ithE  #AR 48 43 91| 18.0/ 73.0 814 FHE =R 44 41 85 8.4 76.6 141461 |28 F0F 62 61 123| 40.0 83.0
220 |k A 41 37 78| 4.8] 73.2 826 FZFHE — 45 46 91 14.4) 76.6 1421 |FE %% 57 61 118| 33.6/ 84.4
RIVEES S 36 42 78/ 4.8 73.2 8 tRE BR 54 55/ 109 32.4 76.6 14361 |#9 FHE 57 58 115] 28.8 86.2
24460 |J\K HEE 48 42 90| 16.8] 73.2 84k B EH 40 38 78 1.2| 76.8 14461 8K i 64 63 127| 40.0, 87.0
2540 |BH MBEZE 45 45 90| 16.8| 73.2 85 TE B 42 42 84 7.2 176.8 solockk | FEE E 22 55 771 23.5 53.5
264z |YEN CHANG SU 48 42 90| 16.8] 73.2 86 B & 48 42 90 13.2| 76.8
2161 |AN M2z 43 40 83 9.6/ 73.4 81 Bl =A 45 45 90 13.2| 76.8
2861 [IMR Kz 46 49 95| 21.6| 73.4 88 FHih = 44 46 90 13.2| 76.8
2961 |E#A Bh— 51 50 101| 27.6| 73.4 89z Mk EBE 51 44 95 18.0| 77.0
3061 |[WE FR 44 44 88 14.4| 73.6 904z flh #FXE 56 51 107 30.0/ 77.0
3 |EH Sif 44 43 87/ 13.2) 73.8 912 AR [ER 45 49 94 16.8| 77.2
261 K B 45 42 87 13.2) 73.8 926 K&K FERER 45 49 94 16.8| 77.2
33 |HH KL 49 44 93| 19.2| 73.8 W HFE B— 48 45 93 15.6| 77.4
UL [V AVY U LA 48 45 93| 19.2| 73.8 9461 LA =F|EA 48 57/ 105 27.6 77.4
b Tk R 55 56 111 37.2] 73.8 905k HH RE 41 45 86 8.4/ 77.6
364 (WA IE{H 39 35 74/ 0.0/ 74.0 96k A B 46 52 98 20.4| 77.6
36 =ik = 42 44 86| 12.0/ 74.0 9741 & FfE 43 42 8 7.2| 71.8
38 | JIg R 48 44 92| 18.0/ 74.0 984z dbiE HE 53 50 103 25.2 77.8
39 |[{EER (B 37 42 79 4.8) 74.2 9 EER EE 51 52| 103, 25.2 71.8
4061 |[R BEAKER 43 42 85/ 10.8| 74.2 1004z ;&K =EBh 52 51 103/ 25.2) 71.8
61 R EZ 51 40 91| 16.8| 74.2 101460 EK B 43 4 84 6.0 78.0
2261 FH F 41 43 84| 9.6/ 74.4 10242 /bR BEM 50 52| 102, 24.0 78.0
43t /MUA FE 47 43 90| 15.6| 74.4 103 =Rk EX 43 46 89 10.8| 78.2
4441 AL EE 44 46 90, 15.6| 74.4 104 =% FHe2 50 51 101} 22.8| 78.2
4561 (M RE 43 47 90| 15.6| 74.4 10561 R BA{T 49 52 101 22.8| 78.2
4661 |SFE £ 54 48 102| 27.6| 74.4 10642 KB A 55 52| 107 28.8 78.2
4161 B BEY 48 54 102| 27.6| 74.4 10761 Fl # 51 56 107/ 28.8| 78.2
4861 | KA 3= 48 54 102| 27.6| 74.4 1084 /NEp  B&AI 56 44 1000 21.6/ 78.4
6 [ R5y— 42 41 83 8.4 74.6 109 EH F 51 55| 106, 27.6 78.4
506 | TF1® &= 43 46 89| 14.4) 74.6 110460 (ILUE B 53 53| 106/ 27.6 78.4
516 MR BERE 46 43 89| 14.4) 74.6 M B8 FE 44 49 93 14.4| 78.6
b2 |tE&AK HBBAX 44 45 89 14.4| 74.6 11261 #F Eig 56 49 105| 26.4| 78.6
3L |[HO 42 40 82 7.2 74.8 113 MR FH 50 55/ 105/ 26.4 78.6
bAfiL |*ith MR 44 44 88| 13.2| 74.8 1445 KR &RIT 50 46 96 16.8| 79.2
b | B 49 45 94 19.2| 74.8 11541 K[ 8h— 47 55/ 102 22.8 79.2
5641 |HH KIA 43 50 93| 18.0/ 75.0 11660 FE =—&B 44 45 89 9.6/ 79.4
5161 |=48 il 48 45 93| 18.0/ 75.0 M7 IUE 3 46 49 95 15.6| 79.4
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